
SAP ABAP table /BEV2/ED910 {Returns: Order Reasons/Tax Deferral}

_BEV2_ED910

MANDT [CLNT (3)]

AUGRU  [CHAR (3)]

YHVBART [CHAR (3)]

YHSLAGER [CHAR (15)]

_BEV2_ED901

MANDT [CLNT (3)]

YHVBART [CHAR (3)]
 /BEV2/ED910-YHVBART = /BEV2/ED901-YHVBART 0..N

1

_BEV2_ED902

MANDT [CLNT (3)]

YHVBART [CHAR (3)]

YHSLAGER [CHAR (15)]

 /BEV2/ED910-YHSLAGER = /BEV2/ED902-YHSLAGER 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 /BEV2/ED910-MANDT = T000-MANDT 

0..N

0..N

TVAU

MANDT [CLNT (3)]

AUGRU [CHAR (3)]

 /BEV2/ED910-AUGRU = TVAU-AUGRU 

0..N

0..N


